
                                                                     Question 

An object is thrown upward  at an angle of 370 with a velocity of 10 m/s from the top of a 20 m 

high building. Where, from the foot of the building, would it land? 

 

                                                                       Solution 

v0 = 10 m/s;    α = 370;    h0 = 20 m; l - ? 

 

 

When y = 0 it means that object is on surface of Earth. 

 

 

We choose “+”, because if we choose “-“ : tf < 0. 

 

l ≈ 9*(0.6 + 2.1) m = 24.3 m  

Answer: l = 24.3 m. 
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